
145ページ 章末問題 7.7(3) 解答 1/4

x = r cos θ, y = r sin θとおくと，dxdy = rdrdθ

(2)の結果より領域Dは r, θを用いて

D : 0 5 r 5 2 cos θ, −π

2
5 θ 5 π

2

また，
√

x2 + y2 =
√
r2 cos2 θ + r2 sin2 θ

= r
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D

√
x2 + y2 dxdy =

∫∫
D

r · rdrdθ

=

∫ π
2

−π
2

{∫ 2 cos θ

0

r2 dr

}
dθ

=

∫ π
2

−π
2

8

3
cos3 θ dθ
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2

−π
2

8

3
cos3 θ dθ =

8

3

∫ π
2

−π
2

(1− sin2 θ) cos θ dθ

=
8

3

∫ π
2

−π
2

(cos θ − sin2 θ cos θ)dθ

=
8

3

[
sin θ − 1

3
sin3 θ

]π
2

−π
2

第 2項は置換積分 t = sin θでも得られる．
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2

−π
2

8

3
cos3 θ dθ =

8

3

(
2− 3

2

)

=
32

9


